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ER30ESA1HIRE

[ZE8]

= Bk AL LS i B SEA
(AN) (%) (AN) (%) (AN) (%) (RE
iz 3 25 9 75 12 100 0
EFEFI | A% 1 16.7 5 83.3 6 100 1
= A 1 11.1 8 88.8 9 99.9 0
Bh# 1 12.5 7 87.5 8 100 0
E 6 17.1 29 82.9 35 100 1

[K=BR) (BHE)
o] BB ASL LS i B SEA
= (AN) (%) (AN) (%) (AN) (%) (RE
I = 2 18.2 9 81.8 11 100 0
BRI AN g 1 16.7 5 83.3 6 100 1
SEEm 1 11.1 8 88.8 9 100 0
#ET 4 15.4 22 84.6 26 100 1

[EXE] (BHE)
FE BB ASL RS i - SEA
(AN) (%) (AN) (%) (AN) (%) (RE
Bz 0 0 1 100 1 100 0
BEFHER | %82 0 0 1 100 1 100 0
SEEm 0 0 1 100 1 100 0
B 0 0 0 0 0 100 0
& 0 0 3 100 3 100 0

I EEBAERLFEHHRARDILE

(=88] (AN) (%)
BEEHEH 43 50
EEEHEH 43 50
&&t 86 100
(AL (AN) (%)
BEEHEHE 25 30.1
EEEHEH 58 69.9
&&t 83 100
HEXE] | (N [ (%) |




EREEEN 9 31

FEEHEH 20 69
AN

85t | 29 100







